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BSEH Practice Paper (March 2024) 

CLASS: 12th (Sr. Secondary)      Code: C 

Roll No. 

 

रसायन ͪव£ान 

CHEMISTRY 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 70] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 21 हɇ 
और इसमɅ 35 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 21 in number and it contains 35 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना/पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

________________________________________________________  

1. What is unit of cryoscopic constant?     1 

a) kg K-1mol-1 

b) K kg mol-1 

c) K kg-1 mol-1 

d) K kg mol 

Đायोèकोͪपक िèथराकं कȧ इकाई Èया है?   

a) kg K-1mol-1 

b) K kg mol-1 

c) K kg-1 mol-1 

d) K kg mol 

2. What happens to conductivity upon dilution of solution of a 

strong electrolyte?        1 

a) decreases 

b) increases 

c) remains same 

d) may increase or decrease. 

एक Ĥबल वɮैयुतअपघɪय के ͪवलयन के तनुकरण का चालकता पर Èया 

Ĥभाव होता है? 

a) घट जाती है  

b) बढ़ जाती है  

c) वहȣ रहती है  

d) बढ़ या घट सकती है 

3. Which of the following is a secondary cell?   1 
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a) Leclanche cell 

b) Mercury cell 

c) Fuel cell 

d) Nickel-Cadmium cell 

Ǔनàनͧलͨखत मɅ स ेकौनसा एक संचायक सेल है? 

a) लÈैलांशे सेल 

b) मÈयू[रȣ सेल 

c) Ƀधन सेल  

d) Ǔनकैल-कैडͧमयम सेल   

4. Which of the following is not a lanthanoid?   1 

a) Thorium 

b) Lutetium  

c) Terbium  

d) Europium  

Ǔनàनͧलͨखत मɅ स ेकौन एक लैÛथेनॉयड नहȣं है?   

a) थोरȣयम  

b) ãयटूȣͧशयम   

c) टǒब[यम  

d) यूरोͪपयम  

5. How many nitrogen atoms can make a coordination bond in 

EDTA ion?         1 

a) 0 

b) 2 

c) 3 

d) 4 
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ईडीटȣए (EDTA) आयन मɅ ͩकतन े नाइĚोजन परमाण ु उपसहसंयोजन  

आबंध बना सकत ेहɇ? 

a) 0 

b) 2 

c) 3 

d) 4 

6. Which of the following is dihydroxy derivative of benzene?

           1 

a) Catechol 

b) Resorcinol 

c) Quinol 

d) All of the above 

Ǔनàनͧलͨखत मɅ स ेकौन सा बÛेजीन का डाइहाइĜॉÈसी åय×ुपÛन है? 

a) कैटेकोल 

b) ǐरसॉͧस[नॉल 

c) िÈवनॉल 

d) उपयु[Èत सभी 

7. What is the name of the reaction in which toluene is treated 

with chromyl chloride to produce benzaldehyde?  1 

a) Etard reaction  

b) Stephen reaction 

c) Cannizzaro reaction 

d) Gatterman reaction 
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उस अͧभͩĐया का नाम Èया है िजसमɅ टॉलूईन को Đोͧमल Èलोराइड के 

साथ उपचाǐरत करके बÛेजिैãडहाइड का उ×पादन ͩकया जाता है? 

a) ईटाड[ अͧभͩĐया 

b) èटȣफैन अͧभͩĐया 

c) कैǓनज़ारो अͧभͩĐया 

d) गाटरमान अͧभͩĐया  

8. What is Fehling solution B?      1  

a) Ammonical silver nitrate 

b) Alkaline sodium potassium tartarate  

c) Aqueous copper sulphate 

d) Acidified potassium permanganate  

फेͧलगं ͪवलयन B Èया है? 

a) अमोǓनयामय ͧसãवर नाइĚेट  

b) ¢ारȣय सोͫडयम पोटैͧशयम टाĚȶट   

c) जलȣय कॉपर सãफेट 

d) अàलȣकृत पोटैͧशयम परमɇगनेट   

9. Which of the following is most soluble in water?  1 

a) Dimethylamine 

b) Trimethylamine 

c) Methylamine  

d) Aniline 

Ǔनàनͧलͨखत मɅ स ेकौन सा जल मɅ सबस ेअͬधक ͪवलेय है? 

a) डाइमेͬ थलऐमीन  

b) Ěाईमेͬ थलऐमीन  
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c) मेͬ थलऐमीन  

d) ऐǓनलȣन   

10.  What is Hinsberg’s reagent?      1 

a) C6H5SO2Cl 

b) CH3SO2Cl 

c) C6H5CH2SO2Cl 

d) None of the above 

ǑहÛसबग[ अͧभकम[क Èया है? 

a) C6H5SO2Cl 

b) CH3SO2Cl 

c) C6H5CH2SO2Cl 

d) उपयु[Èत मɅ से कोई नहȣ ं

11. Which of the following is an essential amino acid?  1 

a) Glycine 

b) Lysine 

c) Alanine 

d) Proline 

Ǔनàनͧलͨखत मɅ स ेकौनसा एक आवæयक ऐमीनो अàल है? 

a) Êलाइसीन  

b) लाइसीन  

c) ऐलाǓनन  

d) Ĥोलȣन  

12. Deficiency of which vitamin causes cheilosis?   1 

a) Vitamin B1 
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b) Vitamin B2 

c) Vitamin B6 

d) Vitamin B12 

ͩकस ͪवटाͧमन कȧ कमी से कȧलोͧसस होता है? 

a) ͪवटाͧमन B1 

b) ͪवटाͧमन B2  

c) ͪवटाͧमन B6  

d) ͪवटाͧमन B12  

13. Thyroxine is an iodinated derivative of which amino acid? 

            1 

a) Tryptophan 

b) Tyrosine 

c) Histidine 

d) Lysine 

थायरॉिÈसन ͩकस ऐमीनो अàल का एक आयोडीन युÈत वयु×पÛन है?  

a) ǑĚÜटोफेन  

b) टायरोͧसन  

c) Ǒहिèटडीन  

d) लाइसीन  

14. Double strand helix structure of DNA is its ____ structure.

            1 

a) Primary 

b) Secondary 

c) Tertiary 
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d) Quaternary  

DNA कȧ ɮͪवकंुडलनी संरचना इस कȧ ___________ संरचना है।  

a) Ĥाथͧमक  

b) ɮͪवतीयक  

c) ततृीयक  

d) चतुçक  

15. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Testosterone is the major sex hormone 

produced in males. 

Reason (R): Testosterone participates in the control of 

menstrual cycle. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): टेèटोèटȣरॉन पǽुषɉ मɅ उ×पाǑदत Ĥमखु यौन हॉमȾन है। 

कारण (R): टेèटोèटȣरॉन रजोधम[ के Ǔनयğंण मɅ भागीदार होता है। 
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a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

16. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Reaction of propene with HCl yields 

Chloropropane as major product. 

Reason (R): Addition of HCl to propene follows Markonikov’s 

rule.  

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): HCl के साथ Ĥोपीन कȧ अͧभͩĐया ÈलोरोĤोपने को Ĥमखु 

उ×पाद के Ǿप मɅ उ×पÛन करती है। 

कारण (R): Ĥोपीन मɅ HCl का संयोजन माकȾनीकॉफ  के Ǔनयम का पालन 

करता है।  
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a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

17. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Unit of rate constant for a radioactive decay is 

time-1. 

Reason (R): Radioactive decay is a pseudo first order reaction. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): एक नाͧभकȧय ¢य के ͧलए वेग िèथराकं कȧ इकाई  

समय -1 है। 

कारण (R): नाͧभकȧय ¢य एक छɮम Ĥथम कोǑट अͧभͩĐया है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

18. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Air is an ideal solution. 

Reason (R): The solutions which obey Raoult’s law over the 

entire range of concentration are known as ideal solutions. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): वायु एक आदश[ ͪवलयन है। 

कारण (R): वे ͪवलयन जो सभी सांġताओ ंपर राउãट के Ǔनयम का पालन 

करते हɇ, उÛहɅ आदश[ ͪवलयन के Ǿप मɅ जाना जाता है। 

A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

b) A स×य है परंतु R अस×य है। 

c) A अस×य है परंतु R स×य है। 
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19. Actinoid contraction is greater from element to element than 

lanthanoid contraction. Why?      2 

लÛैथनेॉयड आकंुचन कȧ तुलना मɅ एक त×व स े दसूरे त×व कȧ बीच  

एिÈटनॉयड आकंुचन अͬधक होता है। Èयɉ? 

20. What are alloys? Name an important alloy which contains 

some of the lanthanoid metals.      2 

ͧमĮातुए ं Èया हɇ? एक मह×वपूण[ ͧमĮात ुका नाम बताइए िजसमɅ कुछ 

लɇÛथनेॉयड धातुएं शाͧमल हɇ। 

Or 

अथवा 

Calculate the ‘spin only’ magnetic moment of M2+ (aq) ion (Z 

= 27).           2 

M2+(aq) आयन (Z = 27) के ͧलए ‘ĤचĐण-माğ’ चुंबकȧय आघूण[ कȧ 

गणना कȧिजए।     

21. Which of the 3d series of the transition metals exhibits the 

largest number of oxidation states and why?   2 

सĐंमण त×वɉ कȧ 3d Įेणी का कौन सा त×व बड़ी सÉंया मɅ ऑÈसीकरण 

अवèथाए ंदशा[ता है और Èयɉ?    

22. Draw the structures of optical isomers of [Co(en)3]3+.  2 

[Co(en)3]3+ के Ĥकाͧशत समावयवɉ कȧ सरंचना बनाइए।  

23. Write IUPAC name of the following compounds:   2 

Ǔनàनͧलͨखत यौͬगकɉ के IUPAC नाम ͧलͨखए: 

i) (CH3)3N 

ii) C6H5NHCH3 
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24. Write chemical reaction of aniline with benzoyl chloride and 

write the name of the product obtained.    2 

ऐǓनलȣन कȧ बÛेजॉयल Èलोराइड के साथ रासायǓनक अͧभͩĐया ͧलखɅ एव ं

उ×पÛन उ×पादɉ के नाम ͧलͨखए।    

25. What type of bonding help in stabilising the α-helix structure 

of proteins?         2 

Ĥोटȣन कȧ α-हैͧलÈस सरंचना के èथायीकरण मɅ कौन से आबÛध सहायक 

होते है? 

Or 

अथवा 

Differentiate between globular and fibrous proteins.  2  

रेशेदार और गोͧलकाकार Ĥोटȣन को ͪवभǑेदत कȧिजए।   

26. A solution of Ni(NO3)2 is electrolysed between platinum 

electrodes using a current of 5 amperes for 20 minutes. What 

mass of Ni is deposited at the cathode?    3 

Ni(NO3)2 के एक ͪवलयन का ÜलǑैटनम इलÈैĚोडɉ के बीच 5 ऐàपीयर कȧ 

धारा ĤवाǑहत करते हुए 20 ͧमनट तक ͪवɮयुत अपघटन ͩकया गया। Ni 

कȧ ͩकतनी माğ कैथोड पर Ǔन¢ेͪपत होगी?  

27. Derive an integrated rate equation for a first-order reaction.  

            3 

Ĥथम-कोǑट कȧ एक अͧभͩĐया के ͧलए एक समाकͧलत वेग समीकरण का 

åय×ुपÛन कȧिजए। 

28. A first order reaction takes 40 min for 30% decomposition. 

Calculate t1/2.         3  
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एक Ĥथम-कोǑट कȧ अͧभͩĐया के 30% ͪवयोजन होने मɅ 40 ͧमनट लगत े

हɇ। t1/2 कȧ गणना कȧिजए।   

Or 

अथवा 

The rate of a reaction quadruples when the temperature 

changes from 293 K to 313 K. Calculate the energy of 

activation of the reaction assuming that it does not change 

with temperature.        3 

ताप मɅ 293 K से 313 K तक वɮृͬध करने पर ͩकसी अͧभͩĐया का वेग 

4 गुना हो जाता है। इस अͧभͩĐया के ͧलए सͩĐयण ऊजा[ कȧ गणना यह 

मानते हुए कȧिजए ͩक इसका मान ताप के साथ पǐरवǓत[त नहȣं होता है।   

29. Arrange the following compounds in increasing order of their 

property as indicated:       3  

Ǔनàनͧलͨखत यौͬगकɉ को उनसे संबंͬधत Ǒदए गए गुणधमɟ के बढ़ते Đम 

मɅ åयविèथत कȧिजए: 

i) Acetaldehyde, Acetone, Di-tert-butyl ketone, Methyl tert-

butyl ketone (reactivity towards HCN) 

ऐͧसटैिãडहाइड, ऐसीटोन, डाइ-ततृीयक-ÞयǑूटलकȧटोन, मेͬथल-

ततृीयक-ÞयǑूटलकȧटोन (HCN के ĤǓत अͧभͩĐयाशीलता) 

ii) CH3CH2CH(Br)COOH, CH3CH(Br)CH2COOH, 

(CH3)2CHCOOH, CH3CH2CH2COOH (acid strength) 

CH3CH2CH(Br)COOH, CH3CH(Br)CH2COOH, 

(CH3)2CHCOOH, CH3CH2CH2COOH (अàलता के सामØय[ के 

Đम मɅ) 
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iii) Benzoic acid, 4-Nitrobenzoic acid, 3,4-Dinitrobenzoic 

acid, 4-Methoxybenzoic acid (acid strength) 

बÛेज़ोइक अàल, 4-नाइĚोबेÛज़ोइक अàल, 3,4-डाइनाइĚोबेÛज़ोइक 

अàल, 4-मेथॉÈसीबÛेज़ोइक अàल (अàलता के सामØय[ के Đम मɅ) 

30. Describe aldol condensation.      3 

ऐãडोल संघनन का वण[न कȧिजए।  

Or 

अथवा 

Give simple chemical tests to distinguish between the following 

pairs of compounds: 

Ǔनàनͧलͨखत यौͬगक युगलɉ मɅ ͪवभदे करने के ͧलए सरल रासायǓनक 

परȣ¢णɉ को दȣिजए: 

i) Propanal and Propanone 

Ĥोपेनैल एव ंĤोपेनोन 

ii) Benzoic acid and Ethyl benzoate 

बÛेज़ोइक अàल एव ंएͬथलबेÛज़ोएट  

iii) Benzaldehyde and Acetophenone 

बÛेज़ैिãडहाइड एव ंएसीटोफ़ȧनोन  

31. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

Products of electrolysis depend on the nature of material being 

electrolysed and the type of electrodes being used. If the 

electrode is inert (e.g., platinum or gold), it does not participate 

in the chemical reaction and acts only as source or sink for 
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electrons. On the other hand, if the electrode is reactive, it 

participates in the electrode reaction. Thus, the products of 

electrolysis may be different for reactive and inert electrodes. 

The products of electrolysis depend on the different oxidising 

and reducing species present in the electrolytic cell and their 

standard electrode potentials.  

वɮैयुतअपघटन के उ×पाद अपघǑटत होन े वाले पदाथɟ कȧ अवèथा तथा 

ĤयÈुत इलÈैĚोडɉ के Ĥकार पर Ǔनभ[र करते हɇ। यǑद इलÈैĚोड अͩĐय हो 

(उदाहरण के ͧलए Pt अथवा Au) तो यह अͧभͩĐया मɅ Ǒहèसा नहȣ ंलेता 

एवं यह केवल इलÈैĚॉनɉ के èğोत अथवा ͧसकं का काय[ करता है। दसूरȣ 

ओर यǑद इलैÈĚोड अͧभͩĐयाशील हो तो यह इलÈैĚोड अͧभͩĐया मɅ Ǒहèसा 

लेता है। इस Ĥकार अͧभͩĐयाशील एवं अͩĐय इलैÈĚोडɉ के ͧलए 

वɮैयुतअपघटन के उ×पाद अलग-अलग हो सकते हɇ। वɮैयतुअपघटन के 

उ×पाद वैɮयतुअपघटनी सेल मɅ उपिèथत ͪवͧभÛन ऑÈसीकारक एव ं

अपचायक èपीशीज़ एवं उनके मानक इलैÈĚोड ͪवभवɉ पर Ǔनभ[र करते हɇ।  

i) What is electrolysis?       1 

वɮैयुतअपघटन Èया है? 

ii) What is an electrochemical cell?     1 

वɮैयुत रासायǓनक सेल Èया है? 

Or 

अथवा 

How can you convert an electrochemical cell to an 

electrolytic cell?        1 

आप एक वɮैयुत रासायǓनक सेल को वɮैयतुअपघटनी सेल मɅ कैस े

बदल सकत ेहɇ? 
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iii) Write the products of electrolysis of molten NaCl. 1 

गͧलत NaCl के वɮैयुतअपघटन के उ×पाद ͧलͨखए।  

iv) Write one use of electrolysis.     1 

वɮैयुतअपघटन का एक उपयोग ͧलखɅ।   

32. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

To explain bonding in coordination compounds various 

theories were proposed. One of the important theories was 

valence bond theory. According to that, the central metal ion 

in the complex makes available a number of empty orbitals 

for the formation of coordination bonds with suitable ligands. 

The appropriate atomic orbitals of the metal hybridise to give 

a set of equivalent orbitals of definite geometry. The d-orbitals 

involved in the hybridisation may be either inner d-orbitals i.e., 

(n-1)d or outer d-orbitals i.e., nd. For example, CO3+ forms 

both inner orbital and outer orbital complexes, with ammonia 

it forms [Co(NH3)6]3+ and with fluorine it forms 

[CoF6]3- complex ion. 

उपसहसंयोजन यौͬगकɉ मɅ आबंधन कȧ ĤकृǓत को समझने के ͧलए अनेक 

Ĥèताव Ǒदए गए थे। एक मह×वपूण[ Ĥèताव संयोजकता आबÛध ͧसɮधांत 

था। इसके अनुसार संकुल मɅ केÛġȣय परमाणु/आयन उͬचत ͧलÊनड स े

उपसहसंयोजन आबÛध बनाने के ͧलए अनेक ǐरÈत क¢क उपलÞध करता 

है। इसके अनुसार सकुंल मɅ केÛġȣय परमाण/ुआयन अपने क¢कɉ को 

संकǐरत करके Ǔनिæचत ÏयाͧमǓत के समक¢ क¢कɉ का समÍुचय Ĥदान 
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करते है। संकरण मɅ शाͧमल d-क¢क या तो आतंǐरक d-क¢क अथा[त (n-

1)d क¢क या बाéय d-क¢क अथा[त nd क¢क हो सकते हɇ। उदाहरण के 

ͧलए, CO3+ दोनɉ आंतǐरक क¢क एव ं बाéय क¢क संकुल बनाता है, 

अमोǓनया के साथ यह [Co(NH3)6]3+ तथा Ýलओुरȣन के साथ 

[CoF6]3- सकुंल आयन बनाता है।       

i) Which of the above-mentioned complexes is inner orbital 

complex?         1 

उपयु[Èत संकुलɉ मɅ स ेआतंǐरक क¢क संकुल कौन सा है? 

ii) Which type of hybridisation is found in [Co(NH3)6]3+ ?

          1 

[Co(NH3)6]3+ मɅ ͩकस Ĥकार का संकरण पाया जाता है? 

iii) What is magnetic nature of [CoF6]3- ?   1 

[CoF6]3- का चुंबकȧय åयवहार Èया है?  

iv) What is geometry of [CoF6]3- ?     1 

[CoF6]3- कȧ ÏयाͧमǓत Èया है?  

Or 

अथवा  

How many unpaired electrons are present in central atom 

of [Co(NH3)6]3+ ?       1 

[Co(NH3)6]3+ के केÛġȣय परमाण ुमɅ ͩकतने अयुगͧलत इलेÈĚॉन हɇ?   

33. Write five examples of electrophilic substitution of haloarenes. 

            5 

हैलोऐरȣन कȧ इलेÈĚॉनरागी ĤǓतèथापन अͧभͩĐया के पाचँ उदाहरण 

ͧलͨखए।  

Or  
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अथवा  

Accomplish the following conversions:    5 

Ǔनàन पǐरवत[न ǓनçपाǑदत कȧिजए: 

i) Ethanol to ethyl fluoride 

एथनेॉल से एͬथल Ýलुओरोइड   

ii) Bromomethane to propanone 

Ħोमोमेथेन से Ĥोपेनोन  

iii) But-1-ene to but-2-ene 

Þयूट-1-ईन स ेÞयूट-2-ईन 

iv) Aniline to chlorobenzene 

ऐǓनलȣन स ेÈलोरोबेÛजीन  

v) Chloroethane to butane 

Èलोरोएथेन से Þयूटेन  

34. Name the reagents used in the following reactions:  5 

Ǔनàनͧलͨखत अͧभͩĐयाओं मɅ ĤयÈुत अͧभकम[कɉ के नाम बताइए: 

i) Oxidation of a primary alcohol to carboxylic acid 

Ĥाथͧमक ऐãकोहॉल का काबȾिÈसͧलक अàल मɅ ऑÈसीकरण   

ii) Oxidation of a primary alcohol to aldehyde 

Ĥाथͧमक ऐãकोहॉल का ऐिãडहाइड मɅ ऑÈसीकरण   

iii) Bromination of phenol to 2,4,6-tribromophenol 

फ़ȧनॉल का 2,4,6-ĚाइĦोमोफ़ȧनॉल मɅ Ħोमीनन  

iv) Benzyl alcohol to benzoic acid 

बेिÛजल ऐãकोहॉल स ेबेÛज़ोइक अàल  

v) Dehydration of propan-2-ol to propene 

Ĥोपेन-2-ऑल का Ĥोपीन मɅ Ǔनज[लन  
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Or 

अथवा  

Explain with example:       5 

उदाहरण सǑहत åयाÉया करɅ: 

i) Kolbe’s reaction 

कोãब ेअͧभͩĐया  

ii) Reimer-Tiemann reaction 

राइमर-टȣमन अͧभͩĐया  

35. What is a colligative property? Which colligative property is 

considered the best to determine the molar mass of solute? 

Give at least three reasons to support your answer.   5  

अणुसÉंय गणुधम[ Èया है? ͪवलेय के मोलर ġåयमान को Ǔनधा[ǐरत करने 

के ͧलए कौन सा अणुसंÉय गुणधम[ सबसे अÍछा माना जाता है? अपन े

उƣर के समथ[न मɅ कम स ेकम तीन कारण ͧलखɅ।     

Or 

अथवा  

What are azeotropes? Explain its types with example. 5 

िèथरÈवाथी Èया हɇ? उदाहरण के साथ इसके Ĥकारɉ को èपçट कȧिजए। 

 

 

 

 

 


